Answers Wednesday 13th May
Year 5 Maths – Reflection
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Year 6 Maths – Four Quadrants
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Expected Expected
5a. Ais incorrect, B is incorrect. 5b. Ais incorrect, B is correct.

6a. I 6b.
70.A=(4,3),B=(3,5),C=(2,2), 7b.A=(0,1),B=(4,2),C=(s0),
D=(1,4) D=(9,0)

8a.B 8b. B
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incorrect. The position of the

reflected shapes must be the same
distance from the mirror line. Raj has

moved his shapes to the other side of the

mirror line at different distances.

5a.

o

Expected

4b. Sonny is partly correct. The reflection
should touch the mirror line if the original
shape also does this. However, Sonny has
reflected the friangle incorrectly. He has
moved the shape instead of reflecting.
Sb.

6b.
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4b.A(-3,2),B(-1,-2), C(3,-1),D (4, 1)
5b. A (-5,2),B (- -2),D (-1, -
E(1 3),F(4,3), 6(1,-3), H(
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4a. Holly is incorrect because the
coordinates do not make a shape with 2
pairs of equal, straight sides. The
coordinate (-3 -3) should be (-4, -3).

5a. Various answers, for example: (-1, -1),
2,-1).(2,2)

6a.(1,-1)

Expected

4b. Max s incorrect because the
coordinates do not make a shape with 4
equal sides. The coordinates (1, -1) and
(-3, -1) should be (1, -2) and (-3, -2).

5b. Various answers, for example: (-3, 1),
.1,0,-1

6b.(1,5)





